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Correct Option selected Wrong Option selected Correct Option Not Answered
 

Section - I (English)

Q.No: 1 Fill in the blank with the correctly spelled word:
The athlete's dedication and hard work led to her _______ success in the competition.

phenominal

phenominall

phenomeenal

phenomenal

Not Answered

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:

Sustainable Agriculture
Sustainable agriculture focuses on practices that maintain the health of the soil, ecosystems, and people involved in
food production. Unlike conventional farming, which often relies heavily on chemical inputs, sustainable agriculture
promotes organic farming methods, crop rotation, and integrated pest management. It aims to create a balance
between meeting current agricultural needs and preserving resources for future generations.

What is the primary focus of the paragraph?

Conventional farming

Sustainable agriculture

Chemical inputs

Crop rotation

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:

Sustainable Agriculture
Sustainable agriculture focuses on practices that maintain the health of the soil, ecosystems, and people involved in
food production. Unlike conventional farming, which often relies heavily on chemical inputs, sustainable agriculture
promotes organic farming methods, crop rotation, and integrated pest management. It aims to create a balance
between meeting current agricultural needs and preserving resources for future generations.

What is one of the goals of sustainable agriculture?

Meeting current agricultural needs only

Heavy reliance on monoculture

Maintaining the health of ecosystems

Ignoring future generations

Not Answered

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:

Sustainable Agriculture
Sustainable agriculture focuses on practices that maintain the health of the soil, ecosystems, and people involved in
food production. Unlike conventional farming, which often relies heavily on chemical inputs, sustainable agriculture
promotes organic farming methods, crop rotation, and integrated pest management. It aims to create a balance
between meeting current agricultural needs and preserving resources for future generations.

Why is crop rotation mentioned as a practice in sustainable agriculture?

To reduce the use of organic farming methods

To increase reliance on chemical inputs

To preserve resources

To promote monoculture

Not Answered

Q.No: 5 Choose the word that means "to make amends for a wrongdoing; to apologize":

Condone

Excuse

Pardon

Atonement

Not Answered

Q.No: 6 Choose the correct option that completes the sentence logically and grammatically:
She decided not to pursue a career in medicine _____ her passion for helping others.

despite

and

so

but

Not Answered

Q.No: 7 What does the idiom "Pretty penny" mean?

Ugly

Cheap

Beautiful

Expensive

Not Answered

Q.No: 8 Choose the correct part of speech for the underlined word in each sentence.
She found a beautiful flower in the garden.

Verb

Adverb

Adjective

Noun

Q.No: 9 What does the term "opulent" mean??

Plain

Lavish

Modest

Simple

Not Answered

Q.No: 10 Choose the correct part of speech for the underlined word in each sentence.
The children played happily in the garden.

Noun

Adverb

Pronoun

Preposition

Q.No: 11 Which sentence is punctuated correctly?

The ingredients for the recipe are; eggs, flour, sugar, and butter.

The ingredients for the recipe are - eggs-flour- sugar-and butter.

The ingredients for the recipe are: eggs, flour, sugar, and butter.

The ingredients for the recipe are eggs: flour: sugar: and butter.

Not Answered

Q.No: 12 Choose the correct present tense form:
She rarely _______ TV in the afternoon.

watched

watching

watches

had watched

Q.No: 13 What is the opposite of "Opaque"?

Murky

Cloudy

Clear

Foggy

Not Answered

Q.No: 14 Identify the sentence in the present continuous tense.

We will visit Chennai next month.

They are playing cricket right now.

He had finished the project before noon.

She wrote a letter yesterday.

Q.No: 15 Choose the most appropriate synonym for the underlined word in the given sentence.
The scientist conducted a meticulous experiment to ensure accuracy.

haphazard

sloppy

detailed

careless

Not Answered

Q.No: 16 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:
It was raining heavily yesterday, ____?

will it

wasn't it

would it

isn't it

Not Answered

Q.No: 17 What is the term for "A person who draws or sketches, especially as a profession"?

Activist

Illustrator

Photographer

Sculptor

Q.No: 18 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative suggested,
select the one which best expresses the same sentence in Passive/Active Voice.

I don't know his whereabouts.

His whereabouts is not know to me.

His whereabouts had not been know to me.

No one knows his whereabouts.

His whereabouts are not known to me.

Not Answered

Q.No: 19 Arrange the following jumbled sentence into a coherent order:
A. Soft
B. Waves
C. Sand
D. And
E. Have
F. Beaches
G. Gentle

A-B-C-D-E-F-G

A-C-D-G-B-E-F

F-E-G-C-D-A-B

F-E-A-C-D-G-B

Q.No: 20 Choose the correct part of speech for the underlined word in each sentence.
The astronomer observed distant galaxies through a powerful telescope.

Adjective

Verb

Noun

Adverb

Q.No: 21 Choose the correct option that completes the sentence logically and grammatically:
The teacher asked the students to be quiet ________ the exam.

at

with

during

on

Q.No: 22 What is the passive voice of the sentence "She wrote a novel"?

A novel was written by her.

A novel has been written by her.

A novel is written by her.

A novel is being written by her.

Q.No: 23 Fill in the blank with the most appropriate punctuation mark.
He loves to read novels written by Jane Austen _____ Charles Dickens and Emily Bronte.

Period (.)

comma (,)

question mark (?)

exclamation mark (!)

Q.No: 24 Choose the correct article in English grammar that completes the sentence:
Let us discuss ___ matter seriously.

a

an

the

No Article Required

Not Answered

Q.No: 25 What is the plural of "Tomato"?

Tomatos

Tomatises

Tomatose

Tomatoes

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Not Answered

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Not Answered

Q.No: 35

Q.No: 36

Q.No: 37

Not Answered

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Not Answered

Q.No: 47

Q.No: 48

Not Answered

Q.No: 49

Not Answered

Q.No: 50

Not Answered

Section - III (Arithmetic)

Q.No: 51 The ages of Joyce and Tomy are in the ratio
of 5:7. 4 years later the sum of their ages
will be 56 years. What are their present
ages?

Q.No: 52 Simplify:

Q.No: 53 Simplify:

Q.No: 54
If A can complete a task in 15 days
and B can complete the same task in
30 days, how long will they take
together to finish it?

Q.No: 55 Simplify:

Q.No: 56 Shreya is 3 years older than twice the age of
Shakti. If Shakti is 12 years old, find Shreya's age
?

Q.No: 57 A vendor buys 15 white chargers and
15 black chargers from the market,
each at Rs.200. Then sells white
charger at Rs.225 per charger and
black charger at Rs.190 per charger.
What is the loss or gain percent?

Not Answered

Q.No: 58 Simplify:

Q.No: 59 In a set of lottery tickets there are 10
tickets with prize and 15 blank tickets.
What is the probability of getting a prize?

Q.No: 60 In a crate, the ratio of Cucumber to Radish
is 4:7. If the total number is 99, how many
Radish are there?

Q.No: 61 The ratio of 4.4 m to 20 cm is ______.
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Q.No: 62 In a clearance sale, a pair of shoes
worth Rs.7500 is sold for Rs.4200.
What is the discount percentage?

Q.No: 63 The average of six numbers is 55. If
each number is multiplied by 2, what is
the new average?

Not Answered

Q.No: 64
If a car travels 75 kilometers in 5 hours.
What is the average speed of the car?

Q.No: 65 What is the LCM of 1, 2 and 4?

1 1

8 8

2 2

4 4

Q.No: 66
Two coins are tossed once. Find the probability of
getting no head ?

Q.No: 67 What is the Highest Common Factor (HCF) of 63 and
81?

6 6

18 18

27 27

9 9

Q.No: 68 Naveen buys a second hand laptop for
Rs.20000. He spends Rs.2000 on its
repair. If he sells the laptop for
Rs.21000, what is the loss percent?
(Approximate)

Q.No: 69 Neha borrowed Rs.2000 from her friend
for 2 years at 1% simple interest. How
much does she need to repay?

Rs.2050 Rs.2050

Rs.2040 Rs.2040

Rs.2020 Rs.2020

Rs.2010 Rs.2010

Q.No: 70 If the cost price of an article is Rs.75
and the selling price is Rs.60, what is
the loss percentage?

Q.No: 71 The average weight of a group of eleven
people is 55 kg. If one person with a
weight of 45 kg is replaced by another
person with a weight of 78 kg, what is
the new average weight?

58 kg 58 kg

68 kg 68 kg

61.5 kg 61.5 kg

64.8 kg 64.8 kg

Q.No: 72
A man walks at a speed of 5km/h. How far
will he travel in 2hours and 30minutes?

Not Answered

Q.No: 73 What is 16% of 70?

Q.No: 74 A sum fetched a total simple
interest of Rs.5016.5 at the rate
of 9% per annum in 5 years. What
is the sum?(Approximate)

Q.No: 75 A works twice as fast as B. If B can
complete a work in 12 days
independently, the number of days in
which A and B can together finish the
work in :

Section - IV (General Knowledge)

Q.No: 76 In which district is Simlipal National Park located?

Debagarh

Nayagarh

Puri

Mayurbhanj

Q.No: 77 World Heritage Day is observed on:

08 April

08 May

18 April

18 May

Not Answered

Q.No: 78 What is the abbreviation of CFC?

Carbofluorocarbanite

Carbofluorocarbine

Chlorofluorocarbon

Chlorofluorohydrocarbon

Q.No: 79 Who along with Mahatma Gandhi supported the
Non - cooperation movement?

Khalifa

Mansoor Ali

Shaukat Ali

Muhammad Ali Jinnah

Not Answered

Q.No: 80 Dr. Christiaan Barnard performed
the first human heart transplant in
which country?

Australia

UK

Russia

South Africa

Not Answered

Q.No: 81 Under whom was the Statutory
Commission constituted by the Tory
Government in Britain?

Robert Clive

Lord Irwin

Sir John Simon

Tory

Not Answered

Q.No: 82 In computing, what does ISDN stand for?

Integrated Standard Digital Network

International Standard Digital Networks

Integrated Services Digital Network

International Services Digital Network

Not Answered

Q.No: 83 Bio-diversity is highest in:

Tropical rain forests

Prairie Zones

Temperate rain forests

Arid Zone

Not Answered

Q.No: 84 Which country Hosted FIFA World Cup in 2022?

France

Argentina

Qatar

Spain

Q.No: 85 When is National Startup Day 2024 celebrated?

January 12

January 26

January 16

January 31

Q.No: 86
Which Indian delegate was awarded the Nobel prize
for their work in Chemistry?

Abhijit Banerjee

Har Gobind Khorana

Subhramanyam Chandrashekhar

Venki Ramakrishnan

Not Answered

Q.No: 87 A universal indicator is used to determine _____.

Water density

pH of Solution

Colour

Conductivity

Not Answered

Q.No: 88 India's first satellite is named after:

Aryabhata

Rohini

Bhaskara

Kalpana Chawla

Q.No: 89 Shakuntala Devi was an Indian _________ .

Mathematician

Astronomer

Doctor

Physicist

Not Answered

Q.No: 90 Which Article of the Indian
Constitution directs the State to
take steps to separate the
judiciary from the executive in
the public services of the State?

Article 50

Article 53

Article 52

Article 51

Not Answered

Q.No: 91 When did Mahatma Gandhi deliver the famous 'Do or
Die' speech?

August 1942

July 1942

December 1942

January 1942

Not Answered

Q.No: 92 Which one of these is NOT a National Park of Jammu
and Kashmir?

Kazinag National Park

Madhav National Park

Salim Ali (City Forest) National Park

Hemis National Park

Q.No: 93 Who tops the list of 'World's 100 Most
Powerful Women' globally in 2023?

Kristina di kota la

Nirmala Sitharaman

Kamala Harris

Ursula von der Leyen

Q.No: 94 Which of the given schedules of the
Indian Constitution includes the
Provision regarding Anti-Defection
Law?

10th schedule

9th schedule

7th schedule

6th schedule

Not Answered

Q.No: 95 Capitalism refers to:

Ownership of movable and immovable goods by the
Government

Private ownership of movable and immovable goods

Stock Markets

Public-Private partnership

Not Answered

Q.No: 96
What is the full form of 'ASEAN'?

Association of South East Asian Nations

Association of Science And Engineering Nations

Arrangement of South And East Nations

Association of Southern East Nations

Q.No: 97 Kudankulam Nuclear Power Plant is situated in which
State?

Tamil Nadu

Andhra Pradesh

Kerala

Karnataka

Not Answered

Q.No: 98 Which nation has bagged maximum number of
Thomas Cup titles?

India

Indonesia

Japan

China

Not Answered

Q.No: 99 The term Ecosystem was introduced by:

Charles Darwin

A.G.Tansley

George Mendel

J B Haldane

Not Answered

Q.No: 100 The maximum percentage of India's employment
comes from which sector?

Services

Agricultural

Mining

Industrial

Not Answered

Section - V (Computer Knowledge)

Q.No: 101 IP address is ______ bytes long.

Six

Eight

Four

Two

Q.No: 102 After the double click of the mouse, the information
goes to?

LCD

OCR

CPU

ROM

Not Answered

Q.No: 103
Which is the first super-computer developed in India?

CRAY-1

Siddhartha

PARAM 8000

IBM-370

Q.No: 104 A type of malware that is designed
to gain administrative level control
over a computer system without
being detected is called
__________.

Adware

Spoofing

Hacking

Rootkit

Q.No: 105 A daisy wheel is a type of _______.

Pointing device

Printer

Storage device

Key board

Q.No: 106 Which of the following
shortcut key is used to select
the entire column in Excel?

Ctrl + B

Ctrl + Spacebar

Shift + Enter

Ctrl + Enter

Q.No: 107 Which one of the following is not a layer of operating
system?

Critical selection

Shell

Application program

Kernel

Q.No: 108 Which of the following switching is used by internet?

Packet Switching

Network Switching

Circuit Switching

Telephone Switching

Q.No: 109 What are you most likely to use when playing?

Notepad

Mouse

Keyboard

Joystick

Q.No: 110 In MS Office, _________ is the software
for managing emails.

MS Access

MS Outlook

MS Publisher

MS One-note

Q.No: 111
Name the first general purpose electronic computer:

EDVAC

ENIAC

ADSAC

ADVAC

Not Answered

Q.No: 112
The shortcut key used to quit MS Access:

Tab + F4 Tab + F4

Alt +F4 Alt +F4

Ctrl + F4 Ctrl + F4

Esc +W Esc +W

Q.No: 113 A cell entry can be edited in the cell or in the
_______.

formula bar

edit menu

menu bar

function bar

Q.No: 114 What is the abbreviation of ADSL?

Audio Digital Signal Line

Automatic Digital Subscriber Link

Asynchronous Dial Subscriber Link

Asymmetric Digital Subscriber Line

Not Answered

Q.No: 115 A number or letter that appears little above
the normal text is called:

Superscript

Subtext

Supertext

Subscript

Q.No: 116 In
Microsoft
PowerPoint,
Which
menu can
be used to
add any
picture in
the
document?

Format

File

Edit

Insert

Q.No: 117 The shortcut key Ctrl + R is used in Excel to:

Right align the content of cell

Fill the selected cell with active cells to the right

Left align the content of cell

Remove the cell contents of selected cells

Q.No: 118 Which of the following is defined
as an attempt to steal, spy,
damage or destroy computer
systems, networks, or their
associated information?

Hacking

Computer security

Cyber security

Cyber attack



Q.No: 119 The term IPv4 stands for:

Internet Protocol version 4

Internet Programs version 4

International Program version 4

Internet Proctor version 4

Q.No: 120
Hub is associated with ________ topology.

Bus

Mesh

Star

Tree

Not Answered

Q.No: 121 What function does a bootloader provide during the
boot process?

Manages file creation

Initializes the system components

Provides a user interface

Loads the operating system into memory

Q.No: 122 When a message is not
delivered because of an
incorrect address,
misspelling, etc. and is
returned to your via email
system, What is it known
as?

Deleting

Reverting

Bouncing

Forwarding

Q.No: 123 The domain .com stands for :

Commercial

Common

Casual

Community

Q.No: 124 In OSI
model,
the only
layer
that
directly
interacts
with
data
from the
user is:

Presentation layer

Physical layer

Session layer

Application layer

Not Answered

Q.No: 125 _______ performs arithmetical and logical operations.

Register

Control

Memory

ALU

Section - VI (General Science)

Q.No: 126 In which type of circuit do
electrical components share the
same current?

Parallel circuit

Open circuit

combination circuit

Series circuit

Q.No: 127 ____________ is Nature's cleaner

e-waste

fertilizers

decomposers

producers

Q.No: 128 What type of heart structure is found in Turtles ?

Two-chamber heart

Three- chamber heart

Five - chamber heart

Four - chamber heart

Q.No: 129
A person with atherosclerosis, a
condition where plaque builds up in
artery walls, is most likely to
experience:

No change in blood pressure

High glucose level

Reduced blood flow to tissues

Increased oxygen delivery to tissues

Not Answered

Q.No: 130 The instrument that is used to measure blood
pressure is called __________.

Hemoglobinometer

Sphygmomanometer

Spirometer

Stethoscope

Q.No: 131 What is the primary goal of sustainable management
of natural resources?

Overexploitation

Preservation

Pollution

Depletion

Q.No: 132 Which of the following is a non-
conventional source that produces
electricity?

Coal

Geothermal

Petroleum

Biomass

Q.No: 133 What is the name of the enzyme that
mixes with food in our mouth?

Lipase

Saliva

Amylase

Pepsin

Q.No: 134 In which division of Kingdom Plantae will Sequoia be
classified?

Gymnosperms

Eubacteria

Pteridophytes

Bryophytes

Not Answered

Q.No: 135 The chemical formula for common salt is:

CaCO3 CaCO3

NaHCO3 NaHCO3

KCl KCl

NaCl NaCl

Q.No: 136
What does "E" represent in the question given below?

Mass of the nucleus

Energy

Efficiency

Speed of light in vacuum

Not Answered

Q.No: 137 Which color of light bends the most when
passing through a prism?

Green

Red

Blue

Violet

Q.No: 138 How does fuse help in protecting home?

protecting home appliances from short-circuiting

protecting the switches in the house

generating zero power electricity

Helps in power savings

Q.No: 139 What happens to the resistance of a
conductor as its temperature
increases?

Increases

Decreases

Becomes negative

Remains the same

Not Answered

Q.No: 140 Why are hydronium ions
(H3O+) or hydrogen ions

(H+) always shown as H+

(aq)?

Hydrogen ions exist alone in water.

Hydrogen ions cannot exist alone but
exist after combining with water
molecules.

Hydrogen ions do not react with
water.

Hydrogen ions combine with
hydroxide ions.

Not Answered

Q.No: 141 Which metal is known for its exceptional
resistance to corrosion?

Stainless Steel

Iron

Aluminum

Zinc

Q.No: 142 Which part in the Earth's atmosphere is the ozone
layer found?

Thermosphere

Stratosphere

Troposphere

Mesosphere

Not Answered

Q.No: 143 Members of the phylum Porifera are
commonly called _______

Polyp

Mosses

Sponges

Corals

Not Answered

Q.No: 144 The name of the male reproductive
part of a flower that produces
yellowish pollen grain is called
_______.

Stamen

Pistil

Ovary

Style

Q.No: 145 What unique quality do metals possess
that allows them to be twisted into
wires and formed into thin sheets?

Malleability

Ductility

Conductivity

Reactivity

Q.No: 146 In accordance with the ICBN
guidelines, the taxonomic hierarchy is

Family, class, order, genus

Order, family, class, genus

Class, order, family, genus

Family, order, class, genus

Not Answered

Q.No: 147
Organisms can change their sex depending
on environmental cues?

Toad

Dolphin

Walrus

Snail

Not Answered

Q.No: 148 Which nerves are part of the peripheral nervous
system?

Spinal Cord

Chest

Brain

Heart veins

Q.No: 149 What happens to the space between
particles when a solid melts into a
liquid?

It remains the same

It decreases

It becomes non-existent

It increases

Not Answered

Q.No: 150 Which one of the following shows the
correct relationship in terms of reactivity?

Fe>Sn>Pb Fe>Sn>Pb

Pb>Sn>Fe Pb>Sn>Fe

Sn>Fe>Pb Sn>Fe>Pb

Fe>Pb>Sn Fe>Pb>Sn

Not Answered


